
Thumb Screw -
Washer Face

Thumb Screw -
Plain

Thumb Screw -
PushType

Round
Thumb Nut

Hex
Thumb Nut

THUMB SCREWS

THUMB NUTS

AMERICAN SIZES AND METRIC

Click to choose page

HTTP://WWW.ACCOFAST.COM



Thumb Screws - Washer Face-Inch

To creat part number:

 Part Number + Material+Finish

Such as: AF7105-B-5

Part # Thread A
+.020

B±.015 C±.015 D±.010 Code Material
-.000

AC7100 4-40 3/8 3/16 5/8 5/16 A Aluminum

AC7101 4-40 3/8 3/16 11/16 3/8 B Brass

AC7102 4-40 3/8 3/16 3/4 7/16 S Steel

AC7103 6-32 3/8 3/16 11/16 3/8 SS Stainless Steel

AC7104 6-32 3/8 3/16 3/4 7/16

AC7105 6-32 3/8 3/16 13/16 1/2

AC7106 8-32 7/16 3/16 11/16 3/8

AC7107 8-32 7/16 3/16 13/16 1/2

AC7108 8-32 7/16 3/16 15/16 5/8

AC7109 10-32 7/16 3/16 11/16 3/8

AC7110 10-32 7/16 3/16 13/16 1/2

AC7111 10-32 7/16 3/16 15/16 5/8

AC7112 1/4-20 1/2 1/4 3/4 3/8
Code Finish

AC7113 1/4-20 1/2 1/4 7/8 1/2

AC7114 1/4-20 1/2 1/4 1 5/8 5 Plate Nickel Bright -Steel,Brass

AC7115 1/4-20 1/2 1/4 1-1/8 3/4 7 Iridite Clear-Aluminum

12 Plate Zinc Clear-Steel,Brass

16 Plate Tin Bright-Steel,Brass (not weild)

20 Passivate-Stainless Steel

22 Anodize Clear-Aluminum

24 Anodize Black-Aluminum

26 Black Oxide-Steel, Brass,SST



Thumb Screws - Washer Face-Metric

To creat part number:

 Part Number + Material+Finish

Such as: AF7105-B-5

Part # Thread A
+0.5

B±0.5 C±±0.5 D±±0.5 Code Material
-0.0

AM3440 M3x0.5 10 5 16 8 A Aluminum

AM3441 M3x0.5 10 5 17 9 B Brass

AM3442 M3x0.5 10 5 19 11 S Steel

AM3443 M3.5x0.6 10 5 17 9 SS Stainless Steel

AM3444 M3.5x0.6 10 5 19 11

AM3445 M3.5x0.6 10 5 21 13

AM3446 M4x0.7 11 5 17 9

AM3447 M4x0.7 11 5 21 13

AM3448 M4x0.7 11 5 24 16

AM3449 M5x0.8 11 5 17 9

AM3450 M5x0.8 11 5 21 13

AM3451 M5x0.8 11 5 24 16

AM3452 M6x1 13 6 18 9
Code Finish

AM3453 M6x1 13 6 22 13

AM3454 M6x1 13 6 25 16 5 Plate Nickel Bright -Steel,Brass

AM3455 M6x1 13 6 28 19 7 Iridite Clear-Aluminum

12 Plate Zinc Clear-Steel,Brass

16 Plate Tin Bright-Steel,Brass (not weild)

20 Passivate-Stainless Steel

22 Anodize Clear-Aluminum

24 Anodize Black-Aluminum

26 Black Oxide-Steel, Brass,SST



Thumb Screws - Plain-Inch

To creat part number:

 Part Number + Material+Finish

Such as: AF7105-B-5

Part # Thread A
+.020

B±.015 C±.015 D±.010 Code Material
-.000

AC7120 4-40 5/16 3/16 1/2 5/16 A Aluminum

AC7121 4-40 5/16 3/16 9/16 3/8 B Brass

AC7122 4-40 5/16 3/16 5/8 7/16 S Steel

AC7123 4-40 5/16 3/16 11/16 1/2 SS Stainless Steel

AC7124 6-32 5/16 3/16 1/2 5/16

AC7125 6-32 5/16 3/16 9/16 3/8

AC7126 6-32 5/16 3/16 5/8 7/16

AC7127 6-32 5/16 3/16 11/16 1/2

AC7128 8-32 3/8 3/16 9/16 3/8

AC7129 8-32 3/8 3/16 5/8 7/16

AC7130 8-32 3/8 3/16 11/16 1/2

AC7131 8-32 3/8 3/16 3/4 9/16

AC7132 8-32 3/8 3/16 13/16 5/8
Code Finish

AC7133 10-32 7/16 3/16 9/16 3/8

AC7134 10-32 7/16 3/16 5/8 7/16 5 Plate Nickel Bright -Steel,Brass

AC7135 10-32 7/16 3/16 11/16 1/2 7 Iridite Clear-Aluminum

AC7136 10-32 7/16 3/16 3/4 9/16 12 Plate Zinc Clear-Steel,Brass

AC7137 10-32 7/16 3/16 13/16 5/8 16 Plate Tin Bright-Steel,Brass (not weild)

AC7138 1/4-20 1/2 1/4 3/4 1/2 20 Passivate-Stainless Steel

AC7139 1/4-20 1/2 1/4 13/16 9/16 22 Anodize Clear-Aluminum

AC7140 1/4-20 1/2 1/4 7/8 5/8 24 Anodize Black-Aluminum

AC7141 1/4-20 1/2 1/4 15/16 11/16 26 Black Oxide-Steel, Brass,SST

AC7142 1/4-20 1/2 1/4 1" 3/4



Thumb Screws - Plain-Metric

To creat part number:

 Part Number + Material+Finish

Such as: AF7105-B-5

Part # Thread A
+0.5

B±0.5 C±0.5 D±0.5 Code Material
-0.0

AM3465 M3x0.5 8 5 13 8 A Aluminum

AM3466 M3x0.5 8 5 14 9 B Brass

AM3467 M3x0.5 8 5 16 11 S Steel

AM3468 M3x0.5 8 5 18 13 SS Stainless Steel

AM3469 M3.5x0.6 8 5 13 8

AM3470 M3.5x0.6 8 5 14 9

AM3471 M3.5x0.6 8 5 16 11

AM3472 M3.5x0.6 8 5 18 13

AM3473 M4x0.7 10 5 14 9

AM3474 M4x0.7 10 5 16 11

AM3475 M4x0.7 10 5 18 13

AM3476 M4x0.7 10 5 19 14

AM3477 M4x0.7 10 5 21 16
Code Finish

AM3478 M5x0.8 11 5 14 9

AM3479 M5x0.8 11 5 16 11 5 Plate Nickel Bright -Steel,Brass

AM3480 M5x0.8 11 5 18 13 7 Iridite Clear-Aluminum

AM3481 M5x0.8 11 5 19 14 12 Plate Zinc Clear-Steel,Brass

AM3482 M5x0.8 11 5 21 16 16 Plate Tin Bright-Steel,Brass (not weild)

AM3483 M6x1 13 6 19 13 20 Passivate-Stainless Steel

AM3484 M6x1 13 6 21 15 22 Anodize Clear-Aluminum

AM3485 M6x1 13 6 22 16 24 Anodize Black-Aluminum

AM3486 M6x1 13 6 24 18 26 Black Oxide-Steel, Brass,SST

AM3487 M6x1 13 6 25 19



Thumb Screws - PushType-Inch

To creat part number:

 Part Number  + Material+Finish

Such as: AF7150-B-5

Part # Thread A
+.020

B±.015 C±.015 D±.010 Part # Thread A
+.020

B±.015 C±.015 D±.010
-.000 -.000

AF7150 6-32 3/16 3/8 1" 5/8 AF7193 10-32 1/4 1/2 2" 1-1/2

AF7151 6-32 3/16 3/8 1-1/8 3/4 AF7194 10-32 1/4 1/2 2-1/8 1-5/8

AF7152 6-32 3/16 3/8 1-1/4 7/8 AF7195 10-32 1/4 1/2 2-1/4 1-3/4

AF7153 6-32 3/16 3/8 1-3/8 1" AF7196 10-32 1/4 1/2 2-3/8 1-7/8

AF7154 6-32 3/16 3/8 1-1/2 1-1/8 AF7197 10-32 1/4 1/2 2-1/2 2"

AF7155 6-32 3/16 3/8 1-5/8 1-1/4 AF7198 1/4-20 5/16 1/2 1-1/8 5/8

AF7156 6-32 3/16 3/8 1-3/4 1-3/8 AF7199 1/4-20 5/16 1/2 1-1/4 3/4

AF7157 6-32 3/16 3/8 1-7/8 1-1/2 AF7200 1/4-20 5/16 1/2 1-3/8 7/8

AF7158 6-32 3/16 3/8 2" 1-5/8 AF7201 1/4-20 5/16 1/2 1-1/2 1"

AF7159 6-32 3/16 3/8 2-1/8 1-3/4 AF7202 1/4-20 5/16 1/2 1-5/8 1-1/8

AF7160 6-32 3/16 3/8 2-1/4 1-7/8 AF7203 1/4-20 5/16 1/2 1-3/4 1-1/4

AF7161 6-32 3/16 3/8 2-3/8 2" AF7204 1/4-20 5/16 1/2 1-7/8 1-3/8

AF7162 8-32 3/16 3/8 1" 5/8 AF7205 1/4-20 5/16 1/2 2" 1-1/2

AF7163 8-32 3/16 3/8 1-1/8 3/4 AF7206 1/4-20 5/16 1/2 2-1/8 1-5/8

AF7164 8-32 3/16 3/8 1-1/4 7/8 AF7207 1/4-20 5/16 1/2 2-1/4 1-3/4

AF7165 8-32 3/16 3/8 1-3/8 1" AF7208 1/4-20 5/16 1/2 2-3/8 1-7/8

AF7166 8-32 3/16 3/8 1-1/2 1-1/8 AF7209 1/4-20 5/16 1/2 2-1/2 2"

AF7167 8-32 3/16 3/8 1-5/8 1-1/4

AF7168 8-32 3/16 3/8 1-3/4 1-3/8

AF7169 8-32 3/16 3/8 1-7/8 1-1/2
Code Material

AF7170 8-32 3/16 3/8 2" 1-5/8

AF7171 8-32 3/16 3/8 2-1/8 1-3/4 A Aluminum

AF7172 8-32 3/16 3/8 2-1/4 1-7/8 B Brass

AF7173 8-32 3/16 3/8 2-3/8 2" S Steel

AF7174 10-24 1/4 1/2 1-1/8 5/8 SS Stainless Steel

AF7175 10-24 1/4 1/2 1-1/4 3/4

AF7176 10-24 1/4 1/2 1-3/8 7/8
Code Finish

AF7177 10-24 1/4 1/2 1-1/2 1"

AF7178 10-24 1/4 1/2 1-5/8 1-1/8 5 Plate Nickel Bright -Steel,Brass

AF7179 10-24 1/4 1/2 1-3/4 1-1/4 7 Iridite Clear-Aluminum

AF7180 10-24 1/4 1/2 1-7/8 1-3/8 12 Plate Zinc Clear-Steel,Brass

AF7181 10-24 1/4 1/2 2" 1-1/2 16 Plate Tin Bright-Steel,Brass (not weild)

AF7182 10-24 1/4 1/2 2-1/8 1-5/8 20 Passivate-Stainless Steel

AF7183 10-24 1/4 1/2 2-1/4 1-3/4 22 Anodize Clear-Aluminum

AF7184 10-24 1/4 1/2 2-3/8 1-7/8 24 Anodize Black-Aluminum

AF7185 10-24 1/4 1/2 2-1/2 2" 26 Black Oxide-Steel, Brass,SST

AF7186 10-32 1/4 1/2 1-1/8 5/8

AF7187 10-32 1/4 1/2 1-1/4 3/4

AF7188 10-32 1/4 1/2 1-3/8 7/8

AF7189 10-32 1/4 1/2 1-1/2 1"

AF7190 10-32 1/4 1/2 1-5/8 1-1/8

AF7191 10-32 1/4 1/2 1-3/4 1-1/4

AF7192 10-32 1/4 1/2 1-7/8 1-3/8



Thumb Screws - PushType-Metric

To creat part number:

 Part Number  + Material+Finish

Such as: AF7150-B-5

Part # Thread D±0.5 B±0.5 C±0.5 A±0.5 Part # Thread D±0.5 B±0.5 C±0.5 A±0.5

AM3500 M3.5x0.6 16 9 25 4.5 AM3543 M6x1 37 13 50 8

AM3501 M3.5x0.6 19 9 28 4.5 AM3544 M6x1 40 13 53 8

AM3502 M3.5x0.6 22 9 31 4.5 AM3545 M6x1 43 13 56 8

AM3503 M3.5x0.6 25 9 34 4.5 AM3546 M6x1 46 13 59 8

AM3504 M3.5x0.6 28 9 37 4.5 AM3547 M6x1 49 13 62 8

AM3505 M3.5x0.6 31 9 40 4.5

AM3506 M3.5x0.6 34 9 43 4.5

AM3507 M3.5x0.6 37 9 46 4.5
Code Material

AM3508 M3.5x0.6 40 9 49 4.5

AM3509 M3.5x0.6 43 9 52 4.5 A Aluminum

AM3510 M3.5x0.6 46 9 55 4.5 B Brass

AM3511 M3.5x0.6 49 9 58 4.5 S Steel

AM3512 M4x0.7 16 9 25 4.5 SS Stainless Steel

AM3513 M4x0.7 19 9 28 4.5

AM3514 M4x0.7 22 9 31 4.5

AM3515 M4x0.7 25 9 34 4.5

AM3516 M4x0.7 28 9 37 4.5

AM3517 M4x0.7 31 9 40 4.5

AM3518 M4x0.7 34 9 43 4.5

AM3519 M4x0.7 37 9 46 4.5
Code Finish

AM3520 M4x0.7 40 9 49 4.5

AM3521 M4x0.7 43 9 52 4.5 5 Plate Nickel Bright -Steel,Brass

AM3522 M4x0.7 46 9 55 4.5 7 Iridite Clear-Aluminum

AM3523 M4x0.7 49 9 58 4.5 12 Plate Zinc Clear-Steel,Brass

AM3524 M5x0.8 16 13 29 6.5 16 Plate Tin Bright-Steel,Brass (not weild)

AM3525 M5x0.8 19 13 32 6.5 20 Passivate-Stainless Steel

AM3526 M5x0.8 22 13 35 6.5 22 Anodize Clear-Aluminum

AM3527 M5x0.8 25 13 38 6.5 24 Anodize Black-Aluminum

AM3528 M5x0.8 28 13 41 6.5 26 Black Oxide-Steel, Brass,SST

AM3529 M5x0.8 31 13 44 6.5

AM3530 M5x0.8 34 13 47 6.5

AM3531 M5x0.8 37 13 50 6.5

AM3532 M5x0.8 40 13 53 6.5

AM3533 M5x0.8 43 13 56 6.5

AM3534 M5x0.8 46 13 59 6.5

AM3535 M5x0.8 49 13 62 6.5

AM3536 M6x1 16 13 29 8

AM3537 M6x1 19 13 32 8

AM3538 M6x1 22 13 35 8

AM3539 M6x1 25 13 38 8

AM3540 M6x1 28 13 41 8

AM3541 M6x1 31 13 44 8

AM3542 M6x1 34 13 47 8



Round Thumb Nuts-Inch

To creat part number:

 Part Number + Material+Finish

Such as: AF7105-B-5

Part # Thread A
+.020

B±.015 C REF D±.010 E±.031 Code Material
-.000

AF7210 2-56 1/4 1/8 1/4 1/8 3/16 A Aluminum

AF7211 4-40 5/16 1/8 1/4 1/8 1/4 B Brass

AF7212 6-32 3/8 1/8 9/32 5/32 11/32 S Steel

AF7213 8-32 7/16 1/8 9/32 5/32 3/8 SS Stainless Steel

AF7214 10-24 1/2 5/32 11/32 3/16 13/32

AF7215 10-32 1/2 5/32 11/32 3/16 13/32

AF7216 1/4-20 9/16 5/32 3/8 7/32 15/32

AF7217 5/16-18 5/8 3/16 13/32 7/32 17/32

AF7218 3/8-16 3/4 7/32 15/32 1/4 5/8

Code Finish

5 Plate Nickel Bright -Steel,Brass

7 Iridite Clear-Aluminum

12 Plate Zinc Clear-Steel,Brass

16 Plate Tin Bright-Steel,Brass (not weild)

20 Passivate-Stainless Steel

22 Anodize Clear-Aluminum

24 Anodize Black-Aluminum

26 Black Oxide-Steel, Brass,SST



Round Thumb Nuts-Metric

To creat part number:

 Part Number + Material+Finish

Such as: AF7105-B-5

Part # Thread A
+0.5

B±0.5 C ref D±0.5 E±0.5 Code Material
-0.0

AM3560 M2.5x0.45 6 3 6 3 5 A Aluminum

AM3561 M3x0.5 8 3 6 3 6 B Brass

AM3562 M3.5x0.6 10 3 7 4 9 S Steel

AM3563 M4x0.7 10 3 7 4 9 SS Stainless Steel

AM3564 M5x0.8 13 4 9 5 11

AM3565 M6x1 13 4 9 5 12

AM3566 M8x1.25 19 6 12 6 16

Code Finish

5 Plate Nickel Bright -Steel,Brass

7 Iridite Clear-Aluminum

12 Plate Zinc Clear-Steel,Brass

16 Plate Tin Bright-Steel,Brass (not weild)

20 Passivate-Stainless Steel

22 Anodize Clear-Aluminum

24 Anodize Black-Aluminum

26 Black Oxide-Steel, Brass,SST



Hex Thumb Screws-Inch

To creat part number:

 Part Number + Material+Finish

Such as: AF7105-B-5

Part # Thread A Hex B±.015 C REF D±.010 E±.031 Code Material

AF7219 2-56 1/4 1/8 1/4 1/8 3/16 A Aluminum

AF7220 4-40 5/16 1/8 1/4 1/8 1/4 B Brass

AF7221 6-32 3/8 1/8 9/32 5/32 11/32 S Steel

AF7222 8-32 7/16 1/8 9/32 5/32 3/8 SS Stainless Steel

AF7223 10-24 1/2 5/32 11/32 3/16 13/32

AF7224 10-32 1/2 5/32 11/32 3/16 13/32

AF7225 1/4-20 9/16 5/32 3/8 7/32 15/32

AF7226 5/16-18 5/8 3/16 13/32 7/32 17/32

AF7227 3/8-16 3/4 7/32 15/32 1/4 5/8

Code Finish

5 Plate Nickel Bright -Steel,Brass

7 Iridite Clear-Aluminum

12 Plate Zinc Clear-Steel,Brass

16 Plate Tin Bright-Steel,Brass (not weild)

20 Passivate-Stainless Steel

22 Anodize Clear-Aluminum

24 Anodize Black-Aluminum

26 Black Oxide-Steel, Brass,SST



Hex Thumb Screws-Metric

To creat part number:

 Part Number + Material+Finish

Such as: AF7105-B-5

Part # Thread A Hex B±0.5 C REF D±0.5 E±0.5 Code Material

AM3580 M2.5x0.45 6 3 6 3 5 A Aluminum

AM3581 M3x0.5 8 3 6 3 6 B Brass

AM3582 M3.5x0.6 10 3 7 4 9 S Steel

AM3583 M4x0.7 10 3 7 4 9 SS Stainless Steel

AM3584 M5x0.8 13 4 9 5 11

AM3585 M6x1 13 4 9 5 12

AM3586 M8x1.25 19 6 12 6 16

Code Finish

5 Plate Nickel Bright -Steel,Brass

7 Iridite Clear-Aluminum

12 Plate Zinc Clear-Steel,Brass

16 Plate Tin Bright-Steel,Brass (not weild)

20 Passivate-Stainless Steel

22 Anodize Clear-Aluminum

24 Anodize Black-Aluminum

26 Black Oxide-Steel, Brass,SST


